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10U/104/29
No. of Questions : 180
Uyl S EE : 180
Time : ) Hours Full Marks : 450
Ay o2 gmfgr : 450

Instructions:

This paper consists of Objective Type Questions and is divided into Two
Sections (I & II} as under :

g WYA- T Agfaheia We W S § qun & W (1 & I, S A At g,
H s 2
(@) Section - I: Consists of 120 Objective Type Questions on General Aware-

ness, Mental Ability, Comprehension and Subject Awareness in some
major subjects.

Qug - 1: # 120 SgfaFeiia We QR 9F, HFfES drad a9 $9 1
forerdl & I W et €

(b} Section - II : Consists of 30 Objective Type Questions on (I) English
Language and (II) Hindi Language.
@WUE - 11 : 3§ 30 Tgfaeredty wed ()3l wmn T (1) &= s & 99 =
aenfea €|

The candidate is required to attempt as many questions as he/she can of
Section-1, and-Questions on ANY ONE of the TWO Language papers (1) En-

glish OR (IT) Hindi in Section -II.
angdf § omiferd 2 6 @ug -1 a9 @Ug 11 % ()3l ar (1) et T I3 &
Afgemiias Wyl @ & B

Note:(1) Each question carries 3 (Three) marks. One mark will be deducted for
each incorrect answer. Zero mark will be awarded for each unattempted
question.

3 P.T.O.
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01.

02.

Y&F FPT 3 (@T) 3F T | YAF NeId I & [0 UF 3F HeT
WIRAT | W% ST U 1 Wi Y e

(2) If more than one alternative answers seem to be approximate to the cor-
rect answer, choose the closest one.

I T S S A S % e Wi B, 9 Frazad wE s g1

(3) Each question is followed by Four alternative answers (1),{2),(3)and (4).

One of these answers is correct. Select the correct and record it against the
relevant question in the ANSWER-SHEET by darkening the circle with
Ball Point Pen as per guidelines.

TF T ¥ AR GeRfeus 3aC g 1 € AR (1),(2),(3) T4 (4) WA @
T T 1 3§ FAa O IS W ) W S g aen 36k W
IR-ufew # degrat e ¥ ame fAwEEr 3t 99 (heE) # S
WZUZ YT BRI HTN Hhich TS |

SECTION -1
g -1

Green revolution succeeded for which one of the following pair of crops :

{1} wheat and maize {2} wheat and potato
{3) maize and gram (4) pulses and cotton
TR shifa Frefafan & ¥ fFa waa g & foe o6 g8 ¢

(1) g qAq T () g adn e

(3) R qAT =41 (4) TA I UK

What is 'Bharat Nirman':

(1) Road Project

(2) A large land developer

(3) Asia’s largest colony

(4) A collection of development programmes



03.

04.

05.

06.

10U/104/29(i)

g Frafor = @ 2
(1) €SH fEeE Q) & 99 Y fame waf
@) T ST T SRR @\ TEm s w1 aE

Which one among the following is not an item of traditional exports ?

(1) Software (2) Leather products

(3) Tea (4) Spices

frafafaa ® & #1 T wRa ¥ T Bt o e @ 8 2

(1) WRATR Q) TR F IAT

(3) =H @ "R

New Economic Policy was launched in India in :

e # ¢ enfdes ifa e s a6t 1 2

(1) 1985 (2) 1991 (3) 2001 (4) 2005

Which among the following is not a Commercial Bank :

(1) Axis Bank (2) Exim Bank

3) IDBIBank (4) Central Bank of India
fipfafiga 3 ¥ =N T wifted F& @2

(1) frTg ¥ (2) ufrm 9%

(3) TR S (4) T=a g% SifE Hew

National Rural Employment Guarantee Act ensures employment for :
(1) Al persons

(2) Selected persons

(3) Those eligible and who opt for it

(4) Each member of a family

5 P.T.O.
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07.

08.

09.

T aretor eI IR Hrdern % starta e derr hafaa @ € 2

1) a = W @ I e efE

(3) U E Aq N TG & 4) 9RER ¥ W 9T B

'Sarva Shiksha Abhinyan was launched in

(1) 2001 and promotes female education

(2) 2001 and is meant for primary education
(3) 1991 and provides mid day meals

(4) 2005 and promotes adult education

e e fsm= 1 arResT e mn
(1) 2001 ¥ e wfen fren A Weqea e @
) 2001 ¥ qen ag Wafte fan ¥ &
3) 1991 ¥ T 7 FAIR WIS ST FA T
(4) 2005 ¥ g 7% W fen A dreanfea e @

Twenty Point programme was launched in :
g it T B PR e T
(1) 1969 (2) 1975 (3) 1985

Main function of World Trade Organization is to :
(1) Control trade among member nations

(2) Provide emergency finance to nations

(3} Ensure food security of the nations

(4) promote free and fair trade among nations

fore SR ST W W 1 ®
(1) USH |W & Hey 2R R Femm
2) AW R v wER & e

(3) S F wWrgA geen e
(4) B F W Wad 9 FRY SR g

4

1991



10.

11.

12.

13.

14.
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Which among the following is the largest trading company in India ?

(1) ONGC. @) FCI

(3) MMTC (4) Trade Fair Authority of India
frfefad § & B T R F TIY T2 SN F el g d 2

1) ATWHHR (2) whH o

@) wWEAR (@) WA SR e Wi
Agriculture year in India spans from :

(1) Jan.1to Dec. 31 (2) April 1to March 31

(3) July1to June 30 (4) as per the Shaka Samvat
ara ¥ Ffy ad w1 wg fr

1) 1 vFad A 31 fans T ) 137 Q31 7 O

@) 1o ¥ 30 I qF (4) YFF W % ATUR

In the year 2007 - 08, the largest cattle population was in :

(1) Australia (2) USA (3) China (4) India
T 2007 - 08 3§ Al Ty FEEAT ST AW o ;

(1) sTefam 2) Y T AR

@ = ) wRd

Eleventh five year plan traget for growth in agricultural production per year
15 :

TREEl Taadtg A d FY ) afiw gfg wwmaea ?
1) 2% 2) 3% 3) 4% @ 6%

Which among the following is a monopoly institution in India ?

(1) Railways (2) Aviation Industry
(3) Steel industry (4) Banking Industry

7 P.T.O.
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frfafas # ¥ 1 T WRa T T e @

Q W@ 2) =g IREEA s
(3) T T (4) S SN

15. Which among the following is the largest in size :
(1) Budget deficit (2) Revenue deficit
(3) Primary deficit {4) Fiscal deficit
frrfafaa § & 19 W e oTHR § qaR agr § ?
(1) == Q) TS =
(3) e = (4) TSmRHE =

16. Which one of the following events happened on April 6, 1930 :

(1) Jalianwala Bagh (2) Dandi March

(3) Partition of Bengal (4) Quit India Movemen
6 arlter 1930 $ frafafad 8§ s S wew g

() fEiaren s ) TiE I

3) wMA w1 faeE (4) IR BIEr e

17. Subsidiary alliance systemn in India was introduced by :

(1) Lord Dalhousie (2) Lord Curzon

(3) Lord Hastings (4) Lord Welleseley
ARG H STE G wuen feraw ww R 7

(1) e SeErst 2) e wiA

@) e fEw @) i et
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18. At which of the following sessions did Congress party adopt the resolution

19.

20.

2]1.

"Socialistic pattern of Society” ?
(1) Nagpur (2) Avadi (3) Bombai (4) Calcutta

fafafea % & wel gu fEwA & Fig &l X ‘THER 999 S T H@
e Wi foRar

(1) ST ) ITETRt (@) W (4) e
Goldkunda fort is near which city ?

(1) Hyderabad (2) Kolhapur (3) Nagpur (4) Panipat
NeTFUeT 1 fren fF 0 % o # :

(1) FTER 2) PR (3) TR @) 9rE

Which one of the following is the correct Chronological order of dynasty in
India:

(1) Ghulam, Khilji, Tughlaq & Mughal

(2) Mughal, Tughlaq, Ghulam and Khilji
(3) Khilji, Ghulam, Tughlag and Mughal
(4) Tughlaq, Ghulam, Khilji, and Mughal

/a % fFrafafaa e = o aEgEe A W R

(1) oW, faest, Tras am P (2) T, T, oW a9r faersit
(@) fast, oW, e aa T (@) e, o, Racrst ar e

What is "Silk Route” ?

(1) away of sewing Wounds

(2) anancient trade route

(3) amethod of weaving the silk yarn
4) away of life

9 P.T.O.
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‘oo we' (wrf) s 22
(1) =& $t &g H H AR 2) U qOAT SR AW
@) WEwamgm R TRl @) T e de

22. Who among the following was hanged for the "Kakori Conspiracy case”?

(1) Ram Prasad Bismil (2} BhagatSingh
(3) Sukhdeo (4) Rajguru
FTRRI 95T FIvg & fou frafafaa & @ fras v & 1€ 2
(1) TH 9ER fafers () i fdg

3 @ (4) TIE

23.  Which among the following is not correcty matched ?
(1)  Shivaji : Afjal Khan
(2) Akbar: Todarmal
(3) Jawhar Lal Nehru : Neelam Sanjeeva Reddy
(4) Indira Gandhi : Morarji Desai

frfefiga ® 7 gafea =&t &
(1) et : ovee @ () FF : AR
(3) VERY e NEw : T T G (¢4)  2Rw e ; At

24. In the reign of which of the following emperor, did the "Treaty of Chittor' was

signed ?

(1) Akbar (2) Jehangir (3) Shahjahan (4) Aurangzeb.
ftafiag § ¥ frg Toe F TR | ks @ df Tl 1

(1) 3That (2) SRR (G) vESTEl @) e

10



25.

26.

27.

28.

10U/104/29()

Shaikh Salim Chisti is most closely related with which one place :

(1) Fatehpur Sikri (2) Ajmer

(3) Deoband (4) Agra

¥ Heiw ot R oo v | wed 31fes fhe A 98 & 2

() e Hwd 2) IR

(3) TR @) SR

Goa was freed from the foreign rule of which of the following country ?
(1) Protugal (2) France (3) Spain (4) Britain
Men # 59 T =t swear ¥ g fFan T

1) Yo 2) | @) = @ f
Who was the leader of the first war of independence in India ?

(1) Tatyan Tope (2) Bahadur Shah Jafar

(3) Rani Laxmi Bai (4) Nana Faranavis

YRE & WIH EaIar U F A7 faa fwmar ?

(1) a2y (2) SRR U SR

@) T weE =g 4) A FEIEAE

Who was the leader of Janta Party formed after the Emergency in India ?
(1) Jai Prakash Narain (2) Atal Bihari Bajpai

{3) Morariji Desai (4) CharanSingh

YT A % o1& qRd | TiSa Swar wef 1 e Frferfag § 3 #4941 2
(1) ¥4 TRl ARE (2) e faerdt T

(@) ¥R duE @) =Rufds

11 P.T.O.
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29.

30.

31.

32.

Which one of the following is not correctly matched ?

(1) G.T.Road : Sher Shah Suri (2) Hawa Mabhal : Jodhpur
(3) Victoria Memorial : Calcutta (4) Jama Masjid : Delhi
frefoniad # @ 97 t gifea T 2 2

(1) e A= : Mur gl (2) T HEA : AR

@) foRife afes s @) < wafse et

In which of the following battle did Mohammed Gori defeat Jaichand ?

(1) Battle of Kannauj (2) Battle of Tarrain

(3) Battle of Panipat (4) Battle of Chandawar
frfafag § 4 fog ool § deme T 3 SoEE

(1) S GE 2) A F IS

(3) U IR (4) <R H IS

The colour of star is an indication of its :

(1) Distance from the earth (2) Temperature

(3) Light it emits (4) The galaxy to which it belongs
AR = {1 qE T R

(1) ST gyt 9 gt (2) TTIFH

@) IR Fh A Freweredt 2 (4) % RFg dRmise 1 9EH ®

Which among the following in not a BRIC country ?

(1) Brazil (2) India (3) China {4) Romania
frrferfiga 3§ @ # w for’ w98 o1 G T 8 2
(1) s (2) WRa Gy =N (4) A

12



33.

34.

35.

36.

37.

100/104/29()

Which among the following rivers in known as 'Sorrow of West Bengal' ?

(1) Damodar (2} Gandak

(3) Hougly (4) Brahmaputra

frfafan ¥ 3 firg 7 =1 fem 3o @ e w5 S 2

(1) TR () T=H () g (4) wEgH
Which among the following pairs is not correctly matched :

(1) Bhubaneshvar : Mahanadi (2) Mathura : Ganga

(3) Jabalpur : Narmada (4) Surat: Tapht

firfafiaa ® & #17 w gra gatem wEi € 2

(1) YEIE : HEES (2) WU : W

(3) AR : T 4) | : I

With which of the following country does India share its largest border ?
(1) Pakistan (2) Nepal (3) China (4) Bangladesh
frafafiga o fFa 3 % 19 IRE F 9 RER gad s § 2

(1) wieam () 9= 3 = @ SRy
Which among the following cities does not have a Steel plant ?

(1) Bhilai (2) Rourkela (3) Salem (4) Berhampur
frafafea 3 9 fFe TR § vom s TE f 2

Q) foor Q) w@ @) wow (4) AR
Which among the following divides India into two parts ?

(1) Equator (2) Tropic of Cancer

(3) Tropic of Capricorn (4) Arcticcircle

13 P.T.O.
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38.

39.

40,

41.

fipafafga & ¥ # T 9 S e § frenfe war
1) A (2 Fh@E (3) HH &l (4) 3MHfew =

Jog falls and Hampi are situated in which of the following states :

(1) Karnataka (2) Andhra Pradesh

(3) Kerala (4) Maharashtra

ST W | et R T W e #

(1) wHIEH Q) oY W @) W« (4) WERE
Singraini Coal fields are found in :

(1) Bihar (2) Jharkhanda

(3) West Bengal (4) AndhraPradesh

R roren & e Wi €

(1) far () FTR@IZ (3) THWEmE (4) SN RW

Mc Mohan line defines the border between which one of the following coun-
tries.

(1) India and Mangolia (2) China and Russia
(3) China and India (4) Russia and Poland
¥ A Y Brefefaa ® § fra 2 & wen dim o T R @
(1) 9Ra 99 5o Q) = aw &g

(3) <N 99 9IRa (4) TH TA WA

India's rank in forest wealth in the world as per latest information is :

FAH SHE F TTER g o o9 TR ¥ R WG $FH ¢
1) 40 2) 30 (3) 20 @ 10

14



42,

43,

44,

45,

46.

Planet Earth is part of which one of the following galaxies ?

10U/104/29(i)

(1) Andromeda (2) Ursa Major (3) UrsaMinor (4) Milky way
IR gt FRe AR Hed & T § 2

(1) e () ® AT (3) 39 AR (4) TR T
The longest river canal in India is called :

(1) Agracanal (2) Indira Gandhi canal

(3) Upper Ganges canal (4) Sirhind canal

R N g Tl TR W AE R

(1) TR ) ¥R Tt e

(3) ST M AR @) s

Nuclear supplier group consists of :

(1) 50 countries (2) 45 countries

(3) 35 countries {4) 30 countries

T S Wl e ¥

(1) 503w 2) 453 (3) 352 4) 30w

Nano knowledge city is being established near :
(1) Ahmadabad (2) Nandigram (3) Panchkhula

A IR TR # T s edE R M@ D
(1) SBFEERE (2 F=um (3) dagen

India accepted the Kyoto Protocol in the year :

A A FAE T W sEer e o § R
Q1998 2) 2000 (3) 2002

15

(4) Hydrabad

@) BeErE

@) 2005

P.T.O.
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47.

48.

49.

50.

Hall marking relates to certification of the purity of :

(1) Processed food (2) Gold Jewellery
(3) Drugs (4) Water

e Wb’ Ferfafas 3 A fre 0w 9 g W A G R
(1) wEHiE g vard 2) Tui ST

(3) (@ o

Which among the following is true for "Chicken Gunia" ?
(1) Itis caused by bacteria

(2) Itis caused by virus

(3) Ttis caused by bite of all mosquitoes

(4) It is an infectious disease

‘ot T ¥4 Freiffa 3 9 w0 T T R 2
(1) T ey 5 I At &

(2) =% for GR Seo B R

(@) T8 T WHER ¥ T=oT & FeA N 39 ol B
4) I% wd-o@ % AT

Which among the following is pH value of pure water :

Y& T T pH A B @
1 1 (2 6 3) 7 4)

Which one of the following is different from the rest :

(1) Gold (2) Silver 3) Copper (4)
frafrfar A A AR A 2
(1) ool @) =i (3) = @

16
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51.

52.

53.

10U/104/29()

‘When the temperature of the metal increase, its electrical resistance :
(1) increases

(2) Remains constant

(3) some times increases and some times decreases

(4) decreases

< o1 R T faRan S @ A e e iy
(1) wg@? @) ferRwEm?
@) T K i v @ @) weEme

What will be the final temperature when 80 calories of heat is taken out of 1
gram water at 0°C?

afe = el amoss W 1 I I 80 IR A Tt fea S o e  Sfow
a9 sHH BA

1) 0C ?) 1°C @) -1°C @) -80°C

Chemical name of vitamin C is :

(1) Tarteric Acid (2) Acetic Acid

(3) Ascorbic Acid (4) Citric Acid

fererfirm <t vt womfE TH R

(1) e w= Q) ufafew o

(3) UEHfd® o @) wEfEs o

Which among the following plants is incapable of producing its own food :
(1) Algae (2) Mushroom (3) Carrot (4) Cabbage
frafefga o A 9 T diar T ST Wi S B H qeW T8 ¢ 2

(1) wrt(FE) (@ = @) TR () o

17 P.T.O.
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55.

56.

57.

58.

59.

"AYUSH" stand for:

(1) Indian medicine systems (2) Adrugto fight AID'S
(3} A vaccine against poisonous gases  (4) A vaccine for Avian flue
‘e TR ?

(1) wrd fafeear wonfaat (2) USH W T ’G

@) wde fdt 3 9= g W (4) 9aft-we @ o= ¥ S

Bar is unit of which one of the following :

(1} Force (2) Energy (3) Frequency (4) Pressure
frefrfiaa o Q o5 e o) T8 AR # 2

1 == 2 =i @) emfa 4 =
Which one of the following gases is emitted properly in the paddy fields :
(1) Carbon di - oxide (2) Methane

(3) Corbon mono - oxide (4) Sulpher di - oxide

o % Gl ¥ Frefofee § ¥ B @ g weg wen F Saie

(1) =T SR-2EEe Q) #=

() e AA-AEEES 4) U SRE-SAFEES

Which among the following glands produces the growth harmone :
(1) Adrenal (2) Pancrease (3) Pitutary (4) Thyroid

ﬁﬂfﬁﬁaﬁﬁ.ﬁm@ﬁwmmwm@m%?
1) v @) Ufpam @) fued (4) ARRES

What prevents the blood from coagulating :
(1) Heparin (2) Analgin (3) Globin (4) Nicotine

18
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6l.

62.

63.
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frrfafaa ¥ 9 o 1% g B o9 J e R
(1) fefE (2) e (3) TEnfeA @) feE

Project ’ Sankalp’ is associated with the eradication of :

(1) Iiliteracy (2) Polio

(3) Unemployment (4) Aids/HIV

TR e o Hey Frafafad § 3 fras R A e

(1) e () e

(3) ST (4) TEH/TH W

Which of the following countries are known as 'Golden crescent’ :

(1) Mynmar, Laos, Thailand (2) Afghanistan, Pakistan, Iran

(3) Afghanistan, Iran, Iraq (4) Mpynmar, Malaysia and Thailand

freafafas § | 919 30 o wafifn sedey’ (ieka FI9=) & 9 ¥ S S
2:

(1) TR, SR, gEdve @) e, TReEH, S
(3) AFMEE, TH, H (4) IR, HeTafir, AR
Sharda Act deals with :

(1) Widow marriage (2) Child marriage

(3) Intercaste marriage (4) Polygamy

TIRE Afafr Tu @ fred weifua @

(1) fouar fomme (2) <« faaE () Siasiag faarg (4)  aga e

National Commission for women was established in :
usa wfer st S e gy
(1) 1991 (2) 1992 (3) 1994 (4) 2000

19 P.T.O.



101/104/29(i)

64. National Policy for Women Empowerment was started in :

(1) March 2001 ) June 2002
(3) January 2003 (4) March2004
Hfger wuftren &t TE Hifa 1 PR gon

(1) w=2001% (2) SE2002H () “Halt 2003 ¥ (4) WAR2004¥

65. ASHA is a programme :
(1) under National Rural Health Mission
(2) of Panchayats
(3) of girls education
(4) of rural girl-child education
‘o § T
(1) HT TER W e faeE % s
(2) e duRA ¥
3) wrEwa aifae e ¥
(4) FrIEHR i i fren ¥

66. The minimum age for boys and girls respectively in India under the Child

Marrige Actis :
(1) 21and 19 years (2) 20 and 18 years
(3) 21 and 18 years (4) 21 and 20 years

T faare sifufam & eimia wre o g% 7 wefeal # faare &g su € s
2:

(1) 21@m 1988 (2) 20918 (3) 21 A 18FY (4)21 dM 20 T

20



67.

69.

70.

71.
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Which one of the following Articles of the Constitution has abolished un-
touchability in India :

ARA # STEYE F e H WHuH B W SRR YEE ¢
1 17 @ 21 3 14 @ 29

If the speaker of the Lok Sabha resigns to whom should he send his resigna-
tion ?

(1) President (2} Prime Minister

(3) Deputy Speaker of Lok Sabha  (4) Minister of Parliamentary Affairs

Ife FEE F1 TS STIT ANTYR & & o 59 Frdeny 9w ?
(1) Twafd (2) wEEEA
(3) dHg F INEAY (4) duda w1 HIA

SAARC was established in the year :

Rk Y T T o8 B
(1) 1984 2) 1985 (3) 1989 @) 1991

How many schedules are there in the Constitution of India ?

R & w3 et syt € 2
a 8 @ 10 3 12 @ 15

If the proposal of a minister is defeated in the House, then which one of the
following will happen ?

(1) The Minister concerned will resign
(2) The minister is dropped from the cabinet

(3) The cabinet resigns
(4) The Council of Ministers resigns

21 P.T.O.
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72.

73.

oft e # foreht Tt o e srdiga & i # @ frefafaa # | 9= g 2
1) w0 s { am ?

) TR * v e o @

@) ¥ e

(@) ¥R R B @R 3 = S

Which among the following is a unique feature of the Indian Parliamentary

system :

(1) Calling attention motion (2) Question hour

(3} Zero hour (4) Adjournment Motion
frfafaa & § = w6 TRdE Guda womet w1 sl agm € 2
(1) wFTREY I (2) WA FEA

3) I = (4) T W

Which one of the following is not True for the Supreme Court of India?
(1) The retirement age of the judges is 65 years

(2) Inall there are 26 judges

(3) It decides cases relating to only Central Government

(4) Its decree is law of the land

RS ¥ Wafew =red & e frffaa f A n w g T8 € 2
(1) =IrEfE  YaEts o oy 65 9 R

2) T T 26 =T

(3) € e F WEHR Q T o) GAaE il ¢

@) T fofg 3w A o @

22



74,

75.

76.

77.
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- Amnesty Inernationl is related with which one of the following : prevention

of:

(1)  Human Rights Violatioin (2) Deaths due to hunger

(3) International terrorism (4) Intant deaths due to malnutrition
T ST o dey frefafas O A T T F R

(1) AFIYFER SeerEd 2) @ F TR TG

@) i AEwaAR (@) Eera g T S FA F HRU ¢
Gandhar school of scpulture is mix of Indian style with :

(1)  Greek styte (2) Persian style

(3) Egyptian style (4) Chinese style

TiuR Rreq Fen e frew e 7 frefafas 3§ § o it =1 fieor @ 2

1) e ¥R Q) SR g

@) fag = I @) =T R dei

Who among the following was responsible for nationalizing the Swez canal ?
(1) Prime Minister of Britain (2) President of France

(3) President of Israel (4) President of Egypt

B TeT F UEEeor % fou frefafan § § w9 e s a1 ?

(1) f&ea = yum w5 Q) W F gy

(3) THUSS % qPld @) fag & ugefa

The reference time for the 2001 Indian census is :

(1) January1 (2) Marchtl (3) Aprill (4) March3l

2001 ¥ AT SEE 1 Hed A ?

1) a1 2) w1 (3) o 1 @ w3t
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78.

79.

80.

81.

How far does the Exclusive Economic Zone of a country extend from its coast-
line 7

(1) 120km ) 220km (3) 320km @) 420 km

ferelt Twr ot st YaT Q@ SHh I e & o SR fRa g A § 2
(1) 120fFdA. @ 220fs. (3) 320 fw .. (4) 420 fEA.

'Chipko' movement is related to :

(1) Wildlife preservation (2) Forest preservation
(3) Scientific agriculture {4) Deforestation
‘PRl e o Gey fRed R

(1) == WIof ETeyor Q) o9 T

@) amfrr Ffy @) & &

Yellow fever is transmitted by which one of the following insects :

(1) Aedes (2) Anopheles (3) House Fly (4) Culex

b v Er=ifafeg 8 ] 59 % 50 yuia fFa s @ 7
n wW Q) UAER (3) W HEE (4 FE

Pasteurization is a process in which milk is heated upto :

(1)  60°C for 10 min (2)  63°C for 20 min

(3)  63°C for 30 min {(4) 72°C for 10 min

T % TRl H 5 I e R

(1) 60°C W 10 fe % faa () 63°C 920 f5e & fag
(3) 63°C W 30 faie ¥ foag (@) 72°C W 10 fame & fag
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82. Largest producer of corn in the world is :

83.

84.

85.

(1) USA (2) India (3) Russia (4) Brazil
forg & Wk 1 WY W81 SARE MR
(1) dgH U=a A (2) IRd (3) ®F (4) e

The ratio of the width to the length of the National Flag is :

IR F i 312 %) < 1 39! ¥ I €
1) 2:3 2) 1:3 (3) 3:4 @) 4:5

Which one of the following is true for the basic duties of Indian citizens :
These were provided for in the Constitution amendment of :

(1) 42nd Amendment carried out in 1976
(2) 42nd Amendment carried out in 1981
(3) 47th Amendment carried out in 1981
(4) 40th Amendment carried out in 1974

IR ¥ AR % o F F o frsfetas 3§ 3 w0 T 9 2 T waem
foran T .

(1) 42at dfge Geie= St 1976 ° g
(2) 42 Gfaem deneE S 1981 | g3 T
(3) 47 Gfem Gee S 1981 § gow
(@) 407t GfaaE dees sh 1974 gon

National Emblem of India is the replica of the Ashok pillar preserved at :

(1) Lumbini (2) Sarnath (3) Kalinga (4) Patna
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86.

87.

88.

89.

AR 1 T Fog g o st e Ml e, se W @
1) g o (2) "y # (3) wEATH (4 wRATH

As per 2001 census of population, female- male ratio was :
2001 I SIRTUAT & FTTAR TI-T8F ST 91 ¢
(1) 926 () 933 (3) 916 (4) 940

The percentage of scheduled caste population in India as per 2001 popula-

tion was in the range of :

2001 F SO % AR 9RA & SFHd Sifadl #t swEen o Sfoea fora
G H ar

(1) 16-17 (2) 1416 (3) 17-18 (4) 20-21

EARN is related to RANE and BOND is related to NODB in the same way
TEAR is related to

(1) AERT (2) ATRE (3) ARET (4) REAT

S @&9 EARN %1 RANE ® @91 BOND 1 NODB ¥ # o §a&1 TEAR# ® :
(1) AERT & (2) ATRE ¥ (3) ARET ® (4) REAT®

1 ¥ 1

If 'x' means 'added to’; '+' means 'subtracted from'; + means 'multiplied by’
;' —"means 'divided by’ then 24 + 36 — 12 x 8 + 4 will be equal to which of the
following :

T 'x' = 31 B e T, '+ o ovef @ wEEn T, « % otd R 1 feeen A ; Aen
'_ o 31 R T fn T ; @ 24 + 36 - 12 x 8 + 4 ffafad # ¥ frad s
2

(1) 36 2 3 3) 5 4) -20
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Three numbers are in the ratio of 2:3:4. The sum of the lergest and smallest
number is equal to the middle number plus 54. Then the lergest number is

equal to :

T 37 2:3:4 % UK H B | GO 9 F TR B Ik 1 A A FF +54 F
TR 31 A T o 3 B A B ;

(1) 54 @) 82 @3) 74 @ 72

One year ago the ratio of ages of Ram and Ahmad was 3 : 4 and one year after,
the ratio of ages will be 10 : 13 respectively. What is the present age of Ram

from among the following :

T 8 TEe! T 3K 3TeHE % 39 1 3T 3: 4 T, T o A1 5 S 1 ST
HEW: 10 : 13 B Fr=fafas & § 0 Ft awaE ag R

(1) 18 years (2) 20 years (3) 19 years (4) 21 years

A man sold the TV at a loss of 5%. Had he sold it at a gain of 10%, he would
have fetched Rs 525 more. The cost of TV is :

wF HF T B 5% T I | S T8 IV 10% N T A= 01 To 525 3R
e 1SSt A R

(1) Rs 3200 (2) Rs 3500 (3) Rs 3000 (4) Rs 3900
In a class of 50 students, M is eighth from the top and H is 20th from the
bottom. How many students are there between M and H ?

50 i 9 &I H M TR Y T aM H R § 0a M WA M e H
¥ 7o fopan foremelf € 2

(1) 21 (2) 23 (3) 20 4 22
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94.

95.

96.

97,

In a certain code DROWN is written as MXNSC. How will BREAK be written
in that code :

T ¢ % WeR DROWN ! foran o1 & - MXNSC o1& 36t F5€ % ¥eR BREAK
31 foan smam -

(1) LBFSC (2) ]BDSA (3) JZDQA 4) LZFQC

‘Arya Samaj' was established in:
(1) Mumbai by Swami Dayanand
2)  Colcatta by Swami Ram Krishna

(

(3) Mumbai by Vir Savarkar

(4) Colcatta by Ishwar Chandra Vidya Sagar

AR THE F A F TR A W ¢

(1) Hag H @it g3 3R () iR H Rt TN F g
(3) Hag W &R FeRE g (4) TR H IR IX fHEErR g1
‘Gati Pratha’ was eradicated by :

(1) Lord Cornvalis (2) Lord Hastings

(3) Lord Bantinck (4) Lord Weleseley

gt g T 3 fhwe g gl ?

(1) e Frafem () =¥

@) i dféw @) e FerElt

Theosophical Society was established in India by :
(1)  Anne Basent at Adyar
(2) Sarojini Naidu at Colcatta

(3) Gopal Krishna Gokhla at Mumbai
(4) Sister Nivedita at Vardha
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frraifrea WERe #i w@e ard | e oo e
(1) A= 3 HEAR A @) wfFR e TR wreE J
3) MAFMARAIVTE T () = Fafm grr et §

In America, slavery was abolished by :

(1) Martin Luthar King (2) Nelson Mandela
(3) JohnF. Kennedy (4) Abraham Lincon
3ftm o T v 1 afa forww fopam ¢

(1) Wi g fdm ) ewd "

(3) W TH. FAS (4) oy foww

Which among the following factors are responsible for the changes in the
caste sysem ?

(1) Means of Transport (2) Use of artificial power

(3) Tradition (4) Mores

Prfafad & ¥ 919 ©F SR wifa sgaeen A wfiad & forg sover ¥ 2

(1) ufEes & | Q) Hfw ufe H wEm

3) W 4) wfeai

The basis of reservation for scheduled tribe is :

(1) Education level (2) Income level

(3) Population (4) Judicial decision

TG ST % ST i IR ® :

(1) ferwwR 2 I"FE () SHEE (4) faurh fofg
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101. Who among the following is the father of scientific socialism :

(1) CarlMarx (2) Andre Beteille

(3) M.S. Srinivas (4) R.K.Merton

et gaSER H o Freffaa T Y s 2

(1) e wEE () s S

(3) wWH.Ug. sifEe (4) SR, %, TA
102. Which among the following is not an institution :

(1) Marrige (2) Joint family

(3) Varna system (4) Club

frafafaa § A i o g @i 2 2

(1 [foamE @ dgwefEr (3 TiemEem (@) WA
103. Which one of the following is not a necessity for joint family.

(1) Property (2) Work (3) Religion 4) Class

frrafafea & & @ 1% W3 Raw o sTevas @ 2 2

(1) wHf @) wH @) ud 4) =

104. Branch of psychology which helps individuals in coping with split
personalilty is called :

(1) Clinical psychology (2) Educational psychology
(3) Counselling psychology (4) Organizational psychology

T &t 9% e s Akl % fare wafea 5t wwenelt B geae |§
W@?ﬂ%,ﬂ?ﬂ?ﬁ%:

(1) “efe A @) foren TAfEge
() TR AAfeRE (4) HISTHF G
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On which one of the following dimensions, a person will obtain a high test
score, if he is very jovial and sociable :

(1) Agrussion (2) Intelligence (3) Introspection (4)Extraversion

frfafaa fomsti # & foFa R =i o9 wrwiss o afE 98 9ga @ o d
AR TG & 2

(1) omEmSHE (2) TG (@) STaHEa @ ofedman
When the light changes from the bright to dim, the iris of the eye :

(1) constricts (2) remains the same

(3) changes the colour (4) dilates

W Fehr s & we At @ o st o wfaie

(1) fogpedd () fefd wd ?

@ TH e @ e R

Which one of the following expressions of emotional states is uinquely hu-
man?

(1) Facial expressions (2) Verbal expressions

(3) Body language (4) Postures and gestures

Giafirs <l W ifvrsafrdl # srfafaa A A @ fafte w0 QA wrEg 2 2
(1) Farpfa sAfwafes @ afas et

(3) ®E W (4) AEIE ©Y W6 TE9E

Which one of the following is a psychosomatic disorder ?
(1) Multiple porsonality (2) Bronchial Asthama
(3) Sex disorder (4) Psychomotor disorder
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frrafafaa & ¥ B9 w& TfEs frer ? :
(1) g =ted Q) =ufe T
@) o R @) wHfs R

109. Which one of the following is not a biological determinant of personality?
(1) Culture (2) Endocrine glands
(3) Heredity (4) Body chemistry

frfafea § § 9 v ftrer 35t o frofes @ £2

(1) o @) oTEE uheE
(3) SR @) WA

110. The cerbellems’ main function is :
(1) stimulating secretion of neurotransmittens
(2) Coordination and control of motor Commands to the muscles
(3) inhibition of muscular activity

(4) filtering incoming stimuli

sTAfaes W TgE e R

(1) i oftaswt % @ w1 EA

2) it & ford fey st & wwveas w@ fiEm
(3) i firm @ SRy

4) oTEF SEIE = e
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Number of small and large bones in human body is :

77 & WR # B 9 2 # wem e @

(1) 215 2y 209 (3) 206 (4) 198
Bile is :

(1) Acidic fluid (2) fluid saturated with glucose
(3) Alkaline fluid (4) neutral fluid

fd:

(1) oreiaza Q) THE Y HIE 39

(3) R (4) TE™II

Which among the following is richest source of vitamin B :

(1) Potato (2) Wheat (3) Sugar (4) Pulses
frftfaa A AR e f TR TR AT 2
(1) e 2 (3) YR (4) gt

from amongst the following indicate the capital of Harshvardhan:

(1) Mathura (2) Prayag (3) Kannauj (4) Patliputra
frafafea 3 | el W gdads : o 4 2

() wgq ) wam @) i () wrfagx
Which one of the following newspaper was associated with the revolution-
ary spirit :

(1} Yugantar (2) Young India

(3) Harijan (4) Amrit Bajar Patrika
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116.

117.

118.

Preferfiga ¥ @ $H v FHifgeR o § et o

(1) Fm<R ) n e

(3) Rem (@) Ta NI i
In which of the following places, Gol Gummnaj is located ?
(1) Aurangabad (2) Hyderabad

(3) SriRangapattam (4) Bijapur

Tiret T Tl 3 & el R @ 2

(1) oiRTER @) T (@) shtmags @) TR

The atomic power plantin UP is situated in which one of the following places?

(1) Unchahar (2) Singrouli (3) Tanda (4) Narora
I R H v forga dew Frefafad § ¥ e o o wafua e
1) FEER @) e (3) el @ R

'Raj Tarangini’ is :

(1) Systemic history of Kashmir state

(2) Collection of poems by Ravindranath Tagore
(3) the name of a Raga of Hindustani music

(4) a film made by Satyajt Ray

T afrit #

(1) R TsF o Faafgear siem

Q) ey SR g e wHiqaett w1 Wue

@) fegwr dita % w T

(4) weafE ¥ grr e T feew
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119. Who among the following lived in 'Sadaquat Ashram'?

120.

(1)  Sri Zaquir Hussain {2) Sri Bhim Rao Ambedkar
(3} Sri Moti Lal Nehru (4) Sri Rajendra Prasad
frfafaa % ¥+ ‘Tema ange’ # wa a1 ?

(1) o s goa 2) %t fRE e

(3) = A T e @) o T TEE

Banaras Hindu Univeristy was established in which of the following year ?

¥R g Prafireers 9t T frefafes 3 & frg o F g ?
(1) 189 2) 1906 G) 1916 @ 1926
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SECTION -1I
LANGUAGE ENGLISH
(For Candidates Opting English Language)

Instruction for Q 121-130

121. Please read the passage given below carefully and then answer the questions
based on it. Do not go beyond the passage to answer questions.

At the outbreak of the Cultural Revolution in 1967, a young, as yet unpub-
lished writer, hearing that writers were being singled out for persecution,
burned a suitcase full of his manuscripts. Short stories, plays, essays and
scholarly critiques were gone in a blaze. He fled to a remote mountain vil-
lage where he lived and worked as a manual labourer for several years. He
wrote too, but secretly.

At the end-of Mao's disastrous political campaign, thousands of intellectuals
and artists were dead, but Gao Xingjian had survived. He returned to Beijing.
The older established writers who survived remained wary, writing little,
but Gao became part of a cohort of younger writers who grew emboldened
with new freedoms and began ot test the political climate with brave and
brazen new works. After the long period of enforced silence, Gao wrote pro-
lifically, as he would continue to do for the rest of his writing career.

Initially, he published novels, short stories and scholarly essays; later he
turned to the stage, and here he fell into trouble with the authorities. He was
blacklisted, and a ban was placed on severa!l of his writings. Rather than risk
imprisonment, Gao fled Beijing in 1993, living on nature reserves and amongst
the Han for several months. This experience was to provide the inspiration
for his masterpiece, Soul mountain. Later serving as a translator, Gao trav-
elled to paris and succeeded in settling there in 1987, where he began to write
for the first time without fear or self-censorship.

In 2000, Gao Xingjian was awarded the world's highest literary honour, the
Nobel Prize for Literature.
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121.Why did the writer burnt his manuscripts ?

122,

123.

124.

125.

(1) because he thought they were useless

(2) because writers were being singled out for persecution

(3) because he was a unpublished and no one wanted to read him
(4) because he was coward and scared

What did the burnt manuscripts contain ?

(1) writings against Mao's cultural revolution

(2) short stories, plays, essays and scholarly critiques
(3) writings in favour of the Cultural Revolution of 1967
(4) writings that were being attacked by the Chinese

Where did the writer run away ?

(1) heran away to the forest

(2) he fled to a remote mountain village

(3} heran and joined the cultural revolution
(4) he was caught running away

How did the writer earn his living ?

(1) by writing short stories

(2) by working as a manual labourer
(3) by writing reviews for a journal
(4) Dby joining the cultural Revolution

What did the writer do when he was hiding in the mountain village ?
(1} report against other writers

(2) continue to write secretly

(3) make others do manual labour

(4) gave up writing in fear
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126.

127.

128,

129.

130.

131

What happened to intellectuals and artists during Mao's regime ?
(1) many intellectuals and artists were killed

(2) many intellectuals and artists left China

(3) many intellectuals and writers became famous

(4) many intellectuals and writers changed their style

What did Gao do after returning to Beijing ?

(1) he started making money by writing

(2) emboldened he tried to produce brazen new works
(3) emboldened he started writing commercial books

(4) he started writing for the newly rich class

What did Gao do after a period of enforced silence ?
(1) he began to explore art (2)  he started painting
(3) he started writing prolifically ~ (4) he joined politics in China

Why did Gao get into trouble with the authorities when he was in Beijing ?

(1) because of his plays (2) because of his essays
(3) because of his short stories (4) because of his scholarly essays
What did Gao do after escaping to Paris ?

(1) he started making political statements
(2) he started writing without fear or self-censorship
(3) he became a mouth-piece of the west

(4) he started gathering experience for the Soul Mountain

Identify the word that is NOT a synonym of the given word : limit
(1) boundary (2) confine (3) demarcate (4) define
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133.

134.

135.

136.

137.

138.
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Identify the word that is NOT a synonym of the given word : strength
(1) power (2) force (3) vitality (4) athletic

Identify the word that is NOT a synonym of the given word: Father
(1) Sire (2) Papa (3) Daddy (4) Governor

Identify the word that is NOT a synonym of the given word : Dim
(1) Dark (2) Pale (3) Faint 4) glassy

Identify the word that is NOT a synonym of the given word : shadowy
(1) Dbleary (2) cloudy (3) misty (4) dawn

Mark out the correct sentence :

(1)  Anger makes dull men witty, but keeps them poor.

(2) Anger makes dull men witty, because keeps them poor.
(3) Anger make dull men witty, but keep them poor.

(4) Anger make dull men wit, but keeps them poor.

Mark out the correct sentence :

(1) Aslgrow old, Iregret to say that a detestable habit of thinking seems to
be getting hold of me.

(2) AslIgrow old, I regret say that detestable habit of thinking seems to be
getting hold of me.

(3) AslIgrow old, Iregret to say that a detestable habit thinking seems to be
getting hold me.

(4) AsIgrow old, I regret to say that detestable habit of thinking seems to
getting hold of me.

Mark out the correct sentence :

(1) The only function of economics is to make astrology look respectable.
(2} The only function of economics to make astrology look respectable.
(3) The only function of economics is make astrology look respectable.
(4) The only function of economics was make astrology look respectable.
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Fill in the blanks :
139. The discovery of a new dish does more for .......... than the discovery of a star.

(1) scientist {2) mankind (3) astronomer (4) physicist
140. the Internet........... elite organization; most of the population of the world has

never even made a phone call. Noam Chomsky

(1) ofan (2) isan (3) inan (4) onan
141. It's the good .......... feel rotten because pleasure is for the bad.

(1) wus {2) who (3) one (4) people
142. We are all strong enough to .......... the misfortunes of others.

(1) bear (2) fruit (3) bore (4) brunt
143. In most mankind, gratitude is .......... a secret hope for greater favours.

(1) mere (2) merely (3) dearly (4) other
144. Let them hate, .........long as they fear.

(1) for (2) of (3) so 4) it
145. Money speaks sense .......... language that all nations understand.

(1) ina (2) fora @) ata (4) intoa
146. Find the odd word out : Villain

147,

(1) traitor (2) betrayer (3) conspirator (4) corporator

Indentify the word that does not qualify as an oxymoron ?
(1) awfully nice (2) active retirement
3) clever fool (4) rightturn
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148. Identify the word that does not qualify as an oxymoron ?
(1) Cardinal sin (2)  Alittle pregnant
(3) Agree to disagree (4) Fine thread

149. Find the odd word out : business

(1) occupation (2} employment (3) concern (4) matter

150. Find the odd word out : prison
(1) jail (2) gaol (3) dungeon (4) fortress
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151

152.

153.

154.

155.

156.

157.

SECTION -1I
©|og -11
1L RESH

(Rt &7 are faenffat & o

. R R el 2
(1) w (2) i (3) BT

T A% A L
(1) SSrere Q) AR 3) FATAR

mwﬁﬁﬁmﬁqﬁ%:

(1) sTen 2) TS 3 &R

f&dt =1 alma e =i @i H-H 2 2

(1) =1 2) T 3y %

@ TgHe ¥ werd T R e R W E F e 2
(1) dfcw () werd G) e

&R 1w dfaaE 7 e aean e ?

(1) 15 3T, 1947 (2) 14 fadsy, 1949
(3) 13 TR, 1951 (4) 14 7ER, 1953
TR F fre WX at § 7

(1) 8 2) 9 (3) 11
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162,

163.
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fret o Safe o1, wa e Y oo |
fam =t s = o e 7 feg 9 gm0 faent dfwal € 2

(1) YRdgeRER (2) qaHH (3) WEE (4) feT

T A W S B 9 T 8T |
0T o gu w0 wr fied 1) frast ofiw § 2
(1) W™ () FHAEH (3) gerdie™ (4) wEFEH

(1) R 2) Y™ @) T[T 4) ¥eE™

Frfor S T T A" R e 2

(1) e 2) FRE () & (4) TR
‘g zarg 4 3 i € e

2 ST TRt I I B 1" e e R 2

() R 2 @) gt (4) s
‘& AT AT TTHIE I 99 R A qH e |

AR T W wre o v e SR o 11 farua dfemat € 2

(1) WHER A =ged (2) I YEE

(3) THEW feE ferae (4) gfErea b4a
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164. X HEF Fus @ufeg A ?
(1) 3= 2) gHaR I (3) Hfeeaw @)

165. AV TS ®] 9fdd W
(1) ey ) FHE (3) Hfgaraet (4)

166. i TR frae FEE E 7
(1) g Q) =R 3) W (4)

167. YHeE Fd M STATE F AEF FH T 2
(1) & (2) w&a (3) vgEEe (4)

168. Y& €Y FI T4 HINAT
(1) F=rE (2) TFEE (3) H=fe (4)

169. & €Y H =97 A
(1) INE Q) TE (@) TRE (4)

170. ST e T 2 :
(1) fen ) €= (3) I=A1 (4)

171. AT 998 STH L F I 2
(1) 3T (2) == (3) TS @)
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177.

S 1 o T ®
(1) 3= ) faum (3) fram=

T & watuar v T #

(1) W& (2) wam @) FTA (4)
‘SR A W ;

(1) IFR a5 (2) T HSH F Y
() T Em™ (4) UF T GEN

‘a1 ¥ w2 figettn Agl” 1 H S W SEER R ?

(1) ST (2) I9F 3) 9

HH-F FY, ¥9 3w o
a9 o A 7 98T F 17 F BT 91 TR € 2

(1) 9= (2) IH (3) T

Trar-foar ¥ PH-T rnfaE SR
(0 fam Q) (3) SrEREE

178, R = diu-fasig ?

(1) I+ 7 Q2 T\W+W (3) T +d
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179. = Yo A R ol & sfoera @ fray sl F el @ 2
L X (2) W= 3) =R (4) dr=

180. ‘38R Y e fopuen forar @ 2
(1) wag ) AR Tt (3) WRI THEW (¢) 9Rdg sRER
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T99 g2 T8 &) s Y9 I T W g G e hei- e i Qwt wegef
T F g I I A
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FyTgadT U JEHHIE AT Ao THo Ao U WeAm &1 WiaArzal # suieias &1 srgatq
T8 8!
g aEEa 7 FiE W oRadT &mea g grRT T/ g7 AEd = TE 0F FAfAT
"TgT & FIT T SAE
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i & argare 97 /@ Rr & B
TR ¥ & W & [0 Fad T & g0 H M KU Th F AGF gl A MG B
TR YT TF g H1-FYUT 9 W F§ IG Terd HHAT ST
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